O|OtE 4= (02)3408--1234
EMBIL. ecoscrs ous
MEA HBT H42 379
5 0|XEA| nEl/Es 27)
P JHAPAI—%O” skak 302 O|LH (Al 74)
e/ Es ?ﬂH’élOﬂ/H 7ts(ZMZH=X]E

[+ 0H]2019-02-19 16:28 POS: 1009-1896
dEw BT ——
TR A L1503 10,500 1 10,500

FAUEEHEF0L M 490 1 490

st=efo|30|L(714g 10,800 1 10,800

*AYHEESEE0 A4 490 1 490

ZHPAEIE2HE 6,380 1 6,380

ofEl] 2 =E|et]= 4,780 1
dluo| 25 12| 298g 3,840 1
ZAUO|T| A B2 4,800 1 4,800
= HIX 2049 3,840 1
Rzdd3ZA0Z 3,980 1

S a5 g 1

MHM =25 980

4 AN =5 48,091

S 4,809

i Al 53,880

T=( N ) &2l : 8806170180144 -1,000
dHd29 52,880 ‘

Hh=>—30H J "m 52, 880 ;
3H)4:034241 O|UU{' J

L




